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Child Development and Pedagogy

The social expectations at each stage of development
are referred to as

(1) Developmental tasks

(2) Developmental needs

(3) Developmental hazards

(4) Developmental domains

Development ............... .

(1) proceeds from centre of the body in an outward
direction.

(2) development proceeds from bottom to top.

(3) is unidimensional.

(4) is not influenced by environmental efforts.

Assertion (A): Cognitive development progresses

quite rapidly until middle childhood and then

comes to a stop.

Reason (R): Human beings cannot learn new things

after the stage of middle childhood.

Choose the correct option.

(1) Both (A) and (R) are true and R is the correct
explanation of (A).

(2) Both (A) and (R) are true but R is not the correct
explanation of (A).

(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.

A group of children enact scenes from a popular
dance reality show in their play. As a judge,
8-year-old Sana gives comments on other children’s
dances. This situation highlights the important role
Of o in the socialization of children.

(1) religious institutions (2) family

(3) media (4) school

According to Jean Piaget’s theory of cognitive
development, in which stage children gain the
ability to seriate objects in a specified order?

(1) Sensory motor

(2) Pre operational

(3) Concrete operational

(4) Formal operational

According to Jean Piaget, an ongoing process which
refines and transforms mental structures is called

(2) Object Permanence

(3) Assimilation

(4) Equilibration

After seeing students struggling to solve a problem,
a teacher gave them hints and half solved examples
to assist them.

As per Lev Vygotsky’s theory, this is an example of
............... ) reversibilty

(3) seriation (4) expository teaching
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Which theorist asserted that cognitive development

is a collaborative process?

(1) Lev Vygotsky (2) Ivan Pavlov

(3) B. E Skinner (4) John B. Watson

One of the chief criticisms of Lawrence Kohlberg's

theory is that

(1) his theory undermines the feminine perspective

(2) he did not refer to Piaget's theory of moral
development

(3) he does not propose specific responses of
children at each stage

(4) he did not conduct any research on children

Howard Gardner suggested that there are distinct

kinds of intelligence. Which of the following

intelligence was not proposed by Gardner?

(1) Musical (2) Linguistic

(3) Body-Kinesthetic (4) Practical

Which of the following illustrates a constructivist

learning approach in a progressive classroom?

(1) Multiple interpretations

(2) Rote memorization and verbatim recall

(3) Rewards and punishment

(4) Repeated drill and practice

In context of multilingualism, which of the following

is an appropriate approach?

(1) Students should be penalized for using their
mother tongue or local language during school
hours.

(2) The schools should admit only those students
whose mother tongue is same as the language of
instruction.

(3) The teacher should accept & respect diverse
languages and create a classroom environment
which supports inclusion of all students.

(4) The teacher should ignore children who use
their mother tongue in the class.

Children who often see their parents cross

normative gender lines such as mothers repairing

the appliances and fathers taking care of the baby,
are:

(1) less likely to adhere to gender stereotypes.

(2) more likely to practice gender segregation.

(3) more likely to practice gender stereotypes.

(4) less likely to break gender norms prevalent in
society.

The purposes of assessment according to National

Education Policy (2020) are:

(i) to generate stress and induce fear amongst
students to ensure learning levels.

(ii) to revise-teaching learning processes.

(iii) to optimize learning and development.

(iv) to support students inside and outside the
classroom.

) (i) (i) (iv)

(3) (i) (i) (i)

(2) () (i)
(4) (i) (iid) (v)
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Dynamic assessment helps to understand

(1) the intelligence Quotient of a child

(2) relative rank of the student in comparison to her
peers

(3) the specific learning needs of a child

(4) if child is fit to study in a regular school or not.

For successful inclusion of students with ‘giftedness’,

which of the following strategy a teacher should
avoid to use?

(1) Allow opportunities to express diverse
perspectives.

(2) Provide academic enrichment activities to
students.

(3) Implement teacher-centred curriculum.
(4) Allow students to pursue independent projects
based on their interests.

In order to create a system which respects individual

differences among learners, it is important to:

(1) use standardised curriculum for all learners

(2) allow variation in learning pace and perspectives

(3) keep low expectations of learning from all
students

(4) pay attention only towards high achievers in
exams

A student is unable to pay attention in class, becomes

distracted easily, can’t sit in the assigned seat, fidgets

and loses things. These characteristics are indicative

of

(1) Attention Deficit Hyperactivity Disorder

(2) Visual impairment

(3) Dyslexia

(4) Dysgraphia

For inclusion of students with hearing impairment,

a teacher should ............... .

(1) avoid speaking anytime when student can’t see
her face

(2) discourage use of sign language

(3) avoid use of assistive technology

(4) avoid giving extra time for
information

processing

Choosing activities that provide scope for insightful
and divergent answers promote ............... :

(1) rote memorisation

(2) creativity

(3) frustration

(4) competition

Students who score less marks during exams should

(2) be guided to pursue only vocational education.

(3) be subjected to corporal punishment.

(4) be provided with necessary support as per their
individual needs.

Assertion (A): To ensure meaningful learning, it is

essential to connect new materials with something

the child already knows.

Reason (R): Learning occurs in a linear manner.

Choose the correct option.

(1) Both (A) and (R) are true and R is the correct
explanation of (A).

(2) Both (A) and (R) are true but R is not the correct
explanation of (A).
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(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.

Which of the following notions of success in school

needs to be challenged?

(1) Students achieve success in school by proving
themselves to be better than others.

(2) Success need not to be about competition.

(3) Schools should give importance to cognitive as
well as emotional domains while conceptualising
success.

(4) In creating an evaluation sytem in which
someone comes ‘first’, we also create a system in
which someone is destined to ‘last’.

While teaching a concept which of the following, a

teacher should avoid?

(1) Use of analogies across and within domains

(2) Highlight  correlations  among  different
phenomenons

(3) Ask students to look for cause-effect relations

(4) Exclude non-examplers and exceptions.

Which of the following form of learning, a teacher
should emphasize upon:

(1) learning through stimulus-response

(2) learning through process of structured enquiry
(3) learning through rote-memorisation

(4) learning to achieve more marks than others

Which of the following is NOT an example of
extrinsic motivation?

(1) Avoidance of punishment

(2) Interest

(3) Rewards

(4) Fear of failure

Which of the following emotion hinders student’s
learning?

(1) Eagerness
(3) Curiosity

(2) Gratitude
(4) Hopelessness

During the classroom discussion on concept of

water, a child responded, “water is not colourless”.

On enquiring by the teacher, child gave reference of

dirty water which he had seen in a drain near his

home. A teacher respond to this misconception of

the child by:

(1) completely discarding this answer

(2) asserting that his logic is baseless

(3) accept the response and explain the logic of
calling the water colourless

(4) emphasing on only one correct answer i.e. water
is colourless

Socio-constructivist approach to learning emphasises
on importance of ............... .

(1) Rewards and Punishment

(2) Standardised Assessment

(3) Cultural Context

(4) Expository Teaching

Learning is most effective and meaningful when

(1) it occurs in contextualised manner

(2) learners are performance-oriented

(3) learners are motivated by intrinsic factors

(4) information is presented in disconnected chunks
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Mathematics and Science
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What is the difference between the greatest and
smallest three digit numbers that can be formed
using the digits 0, 2, 5 and 6 without repetitions?

(1) 446 (2) 537
(3) 447 (4) 400
N3 a4 o\ .
If [;j X [@j = (;j , then what is the value of
m?
1) 4 ) 5
(3) 4 4) -5

Which of the following may represent 1—31?

(1) Dividing a rectangular sheet of paper into 22
equal parts and colouring 3 parts among them

(2) Dividing 11 mangoes equally between 3 people

(3) Dividing a circle into 33 equal parts and colouring
9 among them

(4) Drawing 11 circles having radius 1 cm, 2 cm,
3 cm... 11 cm and colouring 3 among them

Which of the following is not a perfect square?

(1) 2116 (2) 2916

(3) 3136 (4) 3158

A shopkeeper has 75 gold and 120 silver coins. She

wants to stack them so that each stack contains same

number of coins of the same type. The maximum

number of coins that each stack can have is

@5 @) 10

(3) 15 (4) 25

The solution of the equation

32-x)—(x+6)=2(1-3x)

is same as the solution of this equation.

(1) 4x +3 =5+ 2x (2 9x +5=4(x-2) +8

(B)B5x+7=2x+9 (@) 3x-1=2x+4

Ifa + b = 3 and a2 + b* = 89, then what is the value
1 1

of —+=7?

a b

3 3
1) 20 ) 0

3 1
3) o 4 '

Let p =3x>-6x -4,
g=3+x-2x*

and r = ~4x + x* + 9, then (p - q) + r is equal to
(1) 6x% + 11x-9 (2) 3x*-2x + 7
(3) 3x*—9x + 8 4) 6x% —11x + 2
If 10x% + x — 3 = (ax + b)(cx + d),
d .

is
a+c

a > ¢, then

(1) a positive number (2) a proper fraction

(3) an improper fraction (4) a negative integer

A number is first increased by 10% and then
decreased by 10%. Then the number

(1) Remains the same (2) is increased by 1%

(3) is decreased by 1%  (4) is increased by 0.1%
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ABCD is a trapezium in which AD||BC, AB = 5 cm,
BC = 11 cm and AD = 7 cm. DA is produced to a
point F such that AF = 3 cm and BF L DE Then, area
of the trapezium ABCD is

(1) 34 cm? (2) 36 cm?

(3) 40.5 cm? (4) 42.75 cm?

Deepak used to walk ten rounds along a rectangular
ground with length 150 cm and breadth 100 m. If he
has to walk around a square shaped ground having
area 0.01 km?, then how many rounds he has to
walk so that he can complete his regular routine of
walking?

(1) Approximately 5
(3) Exactly 12

The radius of the base of a metallic cylindrical box is
17.5 cm. Its height is one meter. What is the capacity

(2) Exactly 11
(4) Approximately 13

22
(in litres) of the box? [Take n= 7]

(1) 90.5 (2) 95

(3) 96.25 4) 99

A box contains some slips on which numbers 25,
26, 27,... 49, are written (one number in one slip).
A slip is drawn at random from the box. What is
the probability that the selected slip bears a prime
number?

(1) 0.16 (2) 0.24

(2) 0.28 (3) 0.36

The average age (in years) of 40 students of a class
is 12. After adding teacher’s age, the average age of
all of them becomes 13 years. If the retirement age of
the teacher is 55 years, then he will retire after

(1) 1 year (2) 2 years

(3) 3 years (4) 5 years

Measures of two supplementary angles are (22 + b)°
and (3a — b)° then, value of 3a is equal to

(1) 54° (2) 108°

(3) 72° 4) 84°

Which of the following pairs of letters in the word
MATHS depicts rotational symmetry?

(1) Aand S 2 Tand M

(3) Mand S (4) Hand S

A triangle is to be constructed with sides (2p — 1) cm,
(2p + 2) cm and 13 cm. For constructing the triangle,
p must always be
(1) greater then 3
(3) greater then 6
The four angles of a quadrilateral are in the ratio
of 4:5:3:6. The difference of the greatest and the
smallest angles of the quadrilateral is

(1) 40° (2) 50°

(3) 60° (4) 80°

ABCD is a quadrilateral in which AC1BD, AB = AD
and CB = CD. Then, ABCD must be a

(1) Rectangle (2) Kite

(3) Parallelogram (4) Rhombus

While teaching mathematics, a teacher arrives at a
statement: ‘A implies B’. This means

(1) A is a necessary condition for B

(2) B is a necessary condition for A

(3) A is the sufficient condition for B

(4) Ais both necessary and sufficient condition for B

(2) greater then 2.5
(4) greater then 5
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Mr. Pramijit is teaching Geometry to his students at
upper primary level.

Which of the following methods is used most
commonly in mathematics classrooms for
geometrical proofs.

(1) Deductive method

(2) Inductive method

(3) Proof by contradiction

(4) Proof by counter example

‘Statistics is more than making graphs and analysing
data. It includes both asking and answering
questions about the outworld.’

Which of the following option explains the meaning

of given statement?

(1) In statistics, number have more significance than
graphs for data analysis.

(2) Graphs should be wused only to introduce
statistics to students.

(3) Students should formulate questions that can be
addressed with data and collect, organize and
display relevant data to answer them.

(4) Statistics is only about solving problems in real
world.

Which of the following statement is indicative of

‘Mathematisation of the child’s thought process’?

(1) Procedure and Drill of problems with
mathematics implies mathematisation of child’s
thought process.

(2) Mathematics Education should focus on
knowing how to mathematize rather than on
knowing a lot of mathematics.

(3) Studying mathematics upto class XII would lead
to mathematisation of child’s mind.

(4) Participating in Olympiads would lead to
mathematisation of child’s mind.

Which of the following is NOT an advantage of

‘Analytical rubrics’?

(1) It gives diagnostic information to teacher

(2) It gives formative feedback to students

(3) Itis good tool for summative assessment

(4) It is easier to link to instructions than to holistic
rubrics.

An orphanage has three gates, a person enters the
orphanage, with some fruits and give half of the
fruits and one more to the children at the first gate,
similarly he gives half of the remaining fruits and
one more to the children at the second gate and
likewise at the third gate. At the end the person is
left with only one fruit. How many fruits were in
the hands of that person in starting? For solving this
problem, which one of the following methods will
be appropriate:

(1) Project-based
(3) Problem-posing

(2) Inductive-deductive
(4) Problem-solving

If the objective of teaching mathematics is related to
developing creative thinking among students, which
of the following method/strategy is appropriate:

(1) Use of formal algorithms.

(2) Use of multiple close-ended problems.

(3) Use of lecture method.

(4) Use of multiple solution task.
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Which of the following activities will help teachers

to promote problem solving in mathematics among

learners?

(1) Conducting interclass quizzes.

(2) Solving the problems and reflecting back on
solutions.

(3) Organizing a mathematical fair.

(4) Using mathematical models for teaching.

Mathematics Anxiety is commonly seen among

students of middle school. Which of the following

strategies are effective in dealing with Mathematics

Anxiety in learners?

(a) Have a positive attitude while communicating
with students

(b) To give collaborative task and promote group
practice problems

(c) To ask the parents of these children to provide
them home tuition

(d) Such students should be singled out and made
to sit on the front on bench in a math classroom.

Options:

(1) (a) and (d) (2) (a), (b) and (d)

(3) only (d) 4) () and (b)

Which of the following task is least likely to develop

critical thinking in mathematics among students?

(1) Evaluate 72x63 in three different ways and
compare the results.

(2) Formulate any two situations to represent the
equation 7x + 3 = 24.

(3) A student calculated the volume of a right
circular cylinder of radius 3.5 cm and height
10 cm as 38.5 cm®. Where did she go wrong?

(4) Calculate the volume of a right circular cylinder
of radius 3.5 cm and height 10 cm.

Read the following statement carefully and choose

the correct option

Assertion (A): The Moon always has the same face

towards the The Earth.

Reason (R): The Moon completes one rotation in its

axis simultaneously as it completes one revolution

around the Earth.

(1) Both A and R are true and R is the correct
explanation of A

(2) Both A and R are true and R is not the correct
explanation of A

(3) Ais true but R is false

(4) Ais false but R is true

Which of the following is true regarding the water
content in the process of conversion of nectars to
honey by honeybees?

(1) Itis increased

(2) Itis reduced

(3) It remains unchanged

(4) It may increase or reduce.

In fish, the body surface is protected from decay by
micro-organism due to which of the following?

(1) Scales (2) Mucus layer

(3) Fins (4) Blubber
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Consider the following statements and choose the

correct option

Assertion (A): Lions do not eat grass

Reason (R): Many animals cannot digest cellulose

What can you say about these?

(1) Both A and R are true and R is the correct
explanation of A

(2) Both A and R are true and R is not the correct
explanation of A

(3) Ais true but R is false

(4) Ais false but R is true

Which of the following source of carbohydrate

contains gluten, a component which can cause

allergy to some people?

(1) Rice (2) Wheat

(3) Raggi (4) Jowar

X is a non-flowering and seedless plant that grows

on land. Which of the following could be X?

(1) Pine tree (2) Algae

(3) Orchids (4) Fern

Which of the following is a set of chemical changes?

(1) Mixing sugar in milk

(2) Setting milk into curd

(3) Making cottage cheese (paneer) from milk

(4) Making buttermilk from curd

(1) (1) and () (2) (2) and (3)

(3) (3) and (4) (4) (1) and (4)

Which of the following is the strongest natural fibre?

(1) Wool (2) Silk

(3) Fleece (4) Jute

Which of the following is a synthetic indicator?

(1) Turmeric solution

(2) Litmus paper

(3) Methyl orange solution

(4) China rose solution

Aditi wanted to send a secret message to her friend.

She gave her friend a letter which did not seems to

have anything written on it. She asked her friend

to rub the paper with a slice of beet root and the

message appeared in dark red colour. Which of the

following could she have used to write the message?

(1) Common salt (2) Glucose solution

(3) Baking soda solution (4) Lemon juice

Identical twins are produced by

(1) Asexual reproduction

(2) Fertilization of two eggs

(3) Fertilization of one egg by two sperms

(4) Fertilization of one egg by one sperm

Why does a metal door knob feel cooler than a

similar plastic knob on a cold day?

(1) Metal is better absorber of heat than plastic

(2) Metal is a better conductor of heat than plastic

(3) Plastic is better radiator of heat than metal

(4) Plastic is better absorber of heat than metal

Read the following statement carefully and choose

the correct option

Assertion (A): Ultra sound is inaudible to humans

Reason (R): The human ear has a range of hearing

between 20 Hz to 20,000 Hz

(1) Both A and R are true and R is the correct
explanation of assertion

(2) Both A and R are true and R is not the correct
explanation of assertion

(3) Ais true but R is false

(4) Both A and R are false
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Why is a lighting conductor installed in a building?

(1) It repels the lighting before it falls on the
building.

(2) It forces the lighting to fall in an area where
there are no buildings.

(3) It conducts electric charge on the ground when
lightening strikes the building.

(4) It collects the electric power present in the
lighting.

Severe burn injuries are likely to be caused by fire

accidents while wearing Synthetic fabric rather than

natural fabric as synthetic fibre.

(1) burns into ash

(2) burns into liquefied and vaporises

(3) burns into flame

(4) burns into sticky liquid

Which of the following is a set of mixtures?

(1) Air, Water, Wood (2) Wood, Salt, Sand

(3) Salt, Sand, Water (4) Wood, Air, Sand

A cyclist travels 360 meters in 2 minutes. What is her

speed?
(1) 180 ms™! (2) 60 ms™
(3) 3ms! (4) 30 ms™!

The focal length of a concave mirror is 20 cm. At
what distance from the concave mirror could the
object be placed to produce virtual image of the

object?
(1) 10 cm (2) 20 cm
(3) 40 cm (4) 40 cm ??repeated (3)??

When a bar magnet is brought near it the iron dust
sticks

(1) mostly at the middle (2) only at the middle

(3) equally everywhere (4) mostly near two ends

A, B, C and D represent four media as follows

A = Air, B = Water, C = Iron, D = Vacuum

In which of the above media, the speed of sound is
minimum and maximum respectively.

(1) Aand D (2) Band C

(3) Aand C (4) Cand D

A teacher puts a leaf in a test tube and puts sprit
(alcohol) in it. Now he heats the test tube till all the
green colour comes out. Then he takes out the leaf
and pour some iodine solution on it.

A. The leaf turns blue black in colour

B. The leaf contains starch

Options:

(1) A is observation, B is inference

(2) A is inference, B is observation

(3) Both A and B are observation

(4) Both A and B are inference

Which of the following is an appropriate objective

for organising a science fair in school?

(1) Getting a good publicity for the school in society.

(2) Increasing the student’s interests in science.

(3) Helping the school to meet administrative
requirement.

(4) Developing a feeling of competition among
students.

Adapting the science curriculum as
understanding level of students ensures its
(1) Content validating

(2) Historical validating

(3) Cognitive validating

(4) Environmental validating

per the
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A class VII teacher plans a task for students of

classifying 25 plants. Which of the following

strategies best support inquiry teaching?

(1) Teacher explains scientific classification system
and demonstrate it.

(2) Teacher gives rules for classification and asks
students to classify the plants.

(3) Teacher allows each student to classify in their
own ways and discuss them.

(4) Teacher conducts a field trip to show plants.

Read the following statement carefully and choose

the correct option:

Assertion (A): School science textbooks need to

include episodes from history.

Reason (R): Historical development of ideas in

science is important for a holistic understanding of

science.

(1) Both A and R are true but R is not the correct
explanation of explanation of A

(2) Both A and R are true but R is the correct
explanation of explanation of A

(3) Ais correct and R is incorrect

(4) Both A and R are incorrect

Which of the following statements is/are correct

regarding assessment in science?

(A) Same type of tasks should be given to all students
for objectivity and parity.

(B) Use of correct scientific vocabulary should be the
only criteria of answers

(C) Student’s justification of their response should
be part of assessment

(1) only A (2) only B

(3) Aand B (4) only C

Which of the following statements describe the

nature of science?

(A) Scientific knowledge is tentative

(B) Scientific explanations are falsifiable

(C) It is a process of describing the world around us

(D)1t is a body of ultimate knowledge

1) a, b, c (2) b,c, d

B)c da 4) d,ab

Which of the following is a micro-level intervention

aimed at improving the teaching-learning of science

in middle schools initiated during the late 1970s

(1) Hoshangabad Science Teaching Program [HSTP]

(2) Lok Jumbish [L]]

(3) District Primary Education Program [DPEP]

(4) Atal Tinkering Lab [ATL]

Teaching science through discovery:

(1) focusses on the products of learning
(2) focusses on the process of learning
(3) is a teacher — centred approach

(4) is a memory — based approach

A science teacher of class VII asks the students to
measure the body temperature of 10 peers and
record their observations. Which of the following
process skills can be assessed using this activity?

(1) Experimenting (2) Inferring

(3) Observing (4) Controlling variables

201
Language: English

Direction (91-99): Read the passage given below and answer
the questions/complete the statements that follow by choosing
the most appropriate options out of the given ones.

91.

92.

93.

94.

When I visited India again in 1945, the big change
I noticed was the increased interest in politics. You
cannot understand the modern Indians unless you
realise that politics occupy them so passionately and
constantly, that artistic problems, and even social
problems- are subsidiary. Their attitude is “first we
must find the correct political solution and then we
can deal with other matters” I think the attitude is
unsound, and used to say so; still, there it is, and
they hold it much more vehemently than they did
a quarter of a century ago. When I spoke about the
necessity of form in literature and the importance
of the individual vision, their attention wandered,
although they listened politely.

Literature, in their view, should expound or inspire a
political creed.

Externally the place has not changed. It looks
much as it did from the train. Outside the carriage
windows (rather dirty windows) it unrolls as before
- monotonous, enigmatic, and at moments sinister.
And in some long motor drives which Ilook through
the Deccan there were the same combinations
of hills, rocks, bushes, ruins, dusty people and
occasional yellow flowers. There is still poverty,
and the malnutrition, which persists like a ground-
swell beneath the pleasant froth of my immediate
experience. Industrialisation has increased though it
does not dominate the landscape yet as it does in the
west. No, externally India has not changed. And this
changelessness in her is called by some observers “the
real India”. I don’t myself like the phrase “the real
India”. I suspect it. It always makes me prick my ears.
In his understanding of India, the writer seems to
be:

(1) positive
(3) negative
In his opinion:
(1) one can be proud of Indian literature

(2) India has effected great social reforms

(3) Indian economy is drawing great attention
(4) Indians are preoccupied with politics.

Study the following statements:

(a) Indians mostly think of politics at the cost of
social reforms.

(b) Indians approach to the problems of life has not
much changed during the last twenty five years.

(c) His audience paid attention only when he spoke
about individual vision.

(1) (a) is right, (b) and (c) are wrong

(2) (b) is right, (c) and (a) are wrong

(3) (a) and (b) are right and (c) is wrong

(4) (b) and (c) are right and (a) is wrong

Study the following statements:

(a) Even in literature Indians want a touch of
politics.

(b) He is impressed, though with the beauty of
nature.

(1) (a) is right and (b) is wrong

(2) (b) is right and (a) is wrong

(3) both (a) and (b) are right

(4) both (a) and (b) are wrong

(2) objective
(4) indifferent
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95.

96.

97.

98.

99.

Which of the following views is not held by the
writer?

(1) India is still a poor country.

(2) India’s landscape is not beautiful.

(3) There is no dynamism in India.

(4) Industrialisation is picking up at a fast pace.
‘economic problems are subsidiary’:

The underlined word is a/an

(1) noun (2) verb

(3) adjective (4) adverb

should inspire a political creed’

The underlined word means the same as:

(1) define (2) encourage
(3) approve (4) change
L it unrolls as before - monotonous ........... " The

word opposite in meaning to the underlined word is
(1) changing (2) similar

(3) attentive (4) progressive

‘Though it does not dominate the landscape.” The
above expression is a/an ............... clause.

(1) noun (2) adjective

(3) adverb (4) coordinate

Direction (100-105) : Read the poem given below and answer
the questions/ Complete the statements that follow with the help
of the given options.

100.

101.

102.

The sea of faith

Was once, too, at the full, and round earth’s shore

Lay like the folds of a bright girdle furl'd.

But now I only hear

Its melancholy, long, withdrawing roar,

Retreating, to the breath

Of the night-wind, down the vast edges drear

And naked shingles of the world.

Ah, love, let us be true

To one another! for the world which seems

To lie before us like a land of dreams,

So various, so beautiful, so new,

Hath really neither joy, nor love, nor light,

Nor certitude, nor peace, nor help for pain:

And we are here as on a darkling plain

Swept with confused alarms of struggle and flight.

Where ignorant armies clash by night.

What does the expression, “But now I only hear its

melancholy ............... “ mean?

(1) Itis the time of dusk

(2) The sound of roaring waves is receding.

(3) A feeling of sadness has overwhelmed the
speaker.

(4) He does not like the breaking up of the waves
against the shore.

Lay like the folds of a bright girdle furled’

The figure of speech used in the above line is

(1) metaphor

(3) simile

(2) hyperbole

(d) symbolization

The poet wishes to indicate by using the phrase,
‘naked shingles’ that:

(1) the waves have hit the rocks

(2) no one is sitting on the rocks

(3) the rocks at the shore are pointed and sharp

(4) the rocks make uncomfortable seats

103.

104.

105.

106.

107.

108.

109.

110.

111.
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The lines ‘Ah love
that:

(1) the speaker wants a positive response to his love
(2) he is truly in love with his beloved

(3) he feels that his beloved is in two minds

(4) he does not want to meet her only in dreams

a land of dreams’ show

Study the following statements:

(a) The poet is living in a seemingly beautiful world.
(b) Actually it is torn by conflicts and disbeliefs.

(1) (a) is true (b) is false

(2) (b) is true and (a) is false

(3) Both (a) and (b) are true

(4) Both (a) and (b) are false

‘The sea of faith was once, too, at the full.” Which

figure of speech is used here?

(1) Metaphor (2) Simile

(3) Symbolism (4) Personification

Learners acquire a language by:

(1) analysing the structure of language

(2) studying the literature of the language

(3) learning about the culture of the speakers of the
language

(4) using the language in a natural interactive
environments

Which of the following language skills are related to

expression?

(1) Reading, listening

(2) Listening, writing

(3) Speaking, Writing

(4) Reading, Speaking and writing

Identify the disability a child might be suffering

from

If she/he is unable to

(a) comprehend text gestures

(b) to make contractions

(c) read at expected rate of speed

(d) analyse the surface and deep meaning

(1) Dysgraphia (2) Dyspraxia

(3) Dyscalculia (4) Dyslexia

Assertion (A): Functional model of language is linked

with the concept of communicative competence.

Reason (R): Language is a vehicle for the expression

of functional meaning and for performing real-world

activities.

(1) both A and R are true and R is the correct
explanation of A

(2) both A and R are true but R is not the correct
explanation of A

(3) Ais true but R is false

(4) A s false but R is true

Which of the following is a subject-oriented writing
style which seeks to explain and illuminate an issue,
subject and idea?

(1) Expository writing
(3) Narrative writing

(2) Descriptive writing

(4) Argumentive writing
Which one of these is cited as an example of
humanistic approach within the language teaching
tradition?

(1) Total physical response

(2) Silent way

(3) Natural approach

(4) Community language learning
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112, A s is a purposeful collection of student’s
work that exhibits the student’s efforts, progress and
achievement in one and more areas.

(1) anecdotal record (2) portfolio
(3) rubrics (4) project

113. While designing the activities for language classroom,
a teacher should consider to ...............

(a) design activities which involve meaningful
interaction

(b) design activities which resemble real world tasks

(1) Ais right.

(2) Bis right.

(3) Both A and B are right.

(4) Both A and B are wrong.

114. National Education Policy (NEP) 2020 recommends

the study of ...............

(1) mother tongue modern Indian
classical languages, foreign languages

(2) mother tongue or home language, modern
Indian languages, Sanskrit, classical languages,
Foreign languages

(3) mother tongue or home languages modern
Indian languages, Sanskrit foreign languages

(4) mother tongue, English, modern Indian
languages, classical languages

115. A teacher conducts an activity in the class. Students

are asked to form a circle. She starts the story with

............... ‘once there was a brave girl in a small

team of Rajasthan. Her name was Riya’. Then each

student in the circle is asked to add a sentence to

complete the story in a meaningful way. The process

takes few more minutes till story reaches its end.

This activity is an example of:

(1) content assisted language learning

(2) cognitive academic language proficiency

(3) basic interpersonal communication system

(4) content integrated language learning

languages,

116. Total physical response (TPR) as a method could be
effective for ...............
(1) kinaesthetic learners (2) auditory learners
(3) reading learners (4) visual learners

117. Which one of the following language is not included
in the VIII Schedule of the Constitution?
(1) Nepali (2) Konkani
(3) Hindi (4) Rajasthani

118.If a person is identifying phonemes, syllables,
works, phrases and sentences and then making use
of information and context to decode the spoken,
written discourse, is an example of ...............
(1) top down processing
(2) bottom up processing
(3) inferential decoding
(4) integrated decoding

119. A child moves from India to U.S.A. and is taught
all her subjects in the language of country she has
migrated to
What is this processes of teaching is known as?
(1) Immersion (2) Bilingualism
(3) Multilingualism (4) Monolingualism

120. Content subjects like science, maths, social science
have specific use of language to convey ideas.
Concepts and meanings.
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A language teacher in collaboration with subject
teachers attempts to use this aspect of language to
teaching language.

What is this known as?

(1) Register based language teaching.

(2) Language through content

(3) Content through language

(4) Content across language

Language: Hindi

Tt (121-128): frm=ferfiaa Temer 1 eagdE IFQ d9r 7
7T g9l BT I SfTT—
T A ST & STIER, &l Th R g o) H i
%1 3id e 9 T T, T STH IRATA H1 HG AR T T
T form ufireht Sl TR wEw e (W a) # 3 5w
STeE H el T § TR R qesi iR wfgensti it ofea
T IS T FH D W T I | 15 9 25 T K A &
o IR 26 ¥ 50 9 & MY & = F TEn iR Tfeensdi ot
3ired oTeIg SIR STeh! |rHTrSIR o Sifeies gfteyf w1 fawersmr
o T ¥ 1 TS Te AR oS Yo a7 WA ST ©
foh oeaE H B & e M o wrmifSi gy w1 off et
fFet ¥1 W § Fau-gw= onl &1 qefse w] ghen ¥
1 T@T §, Ak T I8 98 Fe-h1dl H off FeTeh o ¥ | Sl
= SRl i 3iEd e H R AT HHI ASK TE S €,
& T T STEd T TR 9 @S
ol w1 firae et o) erfeardt Afeensti # <@t TR ¥
AT & Aok Tk Ord 91 i ST St il el
+1 3fEd oS AT o hl SeEl AT 21 S A
e | gedi b Wl § ferelt off ot & ferg Reafe st T
T |eft ot & qei i SiEd e wE T HHI w g
7
121. A 8 EH & 6D oo T ge3YfH &1 off 9t
oJfehT ¥
(1) Grmfsrr, rehfas (2) enfefw, Gmmfses
(3) UiEpfash, sTfefew (4) suf¥fer, sferem
122. T T & 3TUR g H o AR HH HT ST ..o s}
@ T T

(1) stearEt ol (2) snfeemet =i
(3) emfcars Afeensi (4) emfeardt gesi
123. 99 | Infaer 99—

(1) 153 25 9% ®T A & o0 T Afgemd
(2) 15 % 20 6 T 371g & qeu
(3) 15 % 25 99 &t 27 T Afeemd
(4) 26 § 50 I ®T g & TEW
124. 30y & TER 7 &l & e ¥ fivee & @i 72
(1) 7 @mea '@ 1 (2) ST wed fod= B
@) ST gfam gm= §1 (4) ST HoRd HA )
125. SIS 1 Teh el FH a1 fhad ST gt €2
(1) |eft =t & qEst & Wy
(2) T T hT A % WY
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126. T % STER TR § e & gae ¥ e -
(1) sTgfaa SHsfa & At
(2) enfdw w9 3 fusg o
(3) anfeamEh &5 # T& areh Afeemd
(4) 3T €9 & Hsleq AfR
127. SH-H1 3= g8 § f=1 872

(1) wmfsn (2) emfee
(3) Tt (4) gfeyfa
128, ‘oI’ W B—
(1) ToETE fage (2) “eETER H
(3) WehHe Tean (4) SnfdqaT= H=m

9T (129-135): fAwferfera Tamer &1 eqyds qfgq aor 7o
Tq gl %1 I T~
S % I Wreas § gE € 98 ST gaTl Al § 9 §
T 98 WE a1 iR folie-ga S WX 37w SR fres @
@ FHA T, W AT TH 3TFH T & YA & AU adArerasia
e At <9 H Sl 1 Wl YRR ¥ SRTEE g HraEe
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AR i 9aT ¥ SR ST IR Te2fed &1 & Tates /ey
It B SR ITH U1 Tl T Fh1 i IR S &7 ff Iof &9
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e 3R ik faeTere sFet 18 S id B
129. SHyfafafy 1 F=1 =& a =fer—

(A SESEED

(2) Trzfed =1 wated AR arel

(3) wameft

(4) Treamett
130. A9 T 3TFH TN I HT Hehell ¢ ?

(1) STUYF S (2) ST ST

(3) Grft g St (4) R SFT
131. fhaa e & o g iR faliht ga W e ammen
T Hhel B2
(1) I (2) fEshR
(3) wmeA (4) IS

132. A9 AF Hel o7 S § 2
(1) 5@ S Al & H1E T &Ha 9 guifad 2R SO
EIcAd
(2) 519 ST SRS qel a9 &
(3) 5@ Sl SITES® q°1 a9 |7 7
(4) 59 ST 3T FIE hT T FANT HY

133. ‘37w’ v o1 foeim B

(1) Frigm (2) TR
(3) =T (4) T
134. SE9fafafeE § wH-ar 9 & @ =ey 2
(1) ST 1 H9E (2) T T el
(3) SfeTeH =1 wE (4) e =1 g
135. ‘GRS’ Teg § HH-T1 ToIT § 2
(1) = (2) =0
(@) = (4) 5=
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136. AT 318107 ST T 3E¥A B =MfeT ?
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Option (1) is correct.

Explanation: Developmental tasks
refer to the development of a physical
or cognitive skill during a particular
age period.

For example, a developmental task
for an infant is walking.

As a child matures from an infant to a
toddler, he starts to exert his indepen-
dence.

Atevery stage of development, a child
is expected to behave or perform as
per his age, and culture and environ-
ment play a major influence in their
personality development.

Option (1) is correct.

Explanation: According to the theory
of Proximodorsal Development:
Development proceeds from the
center of the body outward.

This means that the spinal cord
develops before the outer parts of
the body.

For example, a child learning to move
her shoulders before learning to
control fine finger movement.
Option (4) is correct.

Explanation:  Development  in
humans is both physical and mental.
Cognitive  development is the
development of knowledge, skills,
problem-solving and dispositions,
which help children to think about
and understand the world around
them.

Development refers to the process of
humandevelopmentfromconception
to death. It is a comprehensive
approach to understand all the
physiological, cognitive, emotional,
and social changes that people go
through.

Development does not stop even
after maturity and the changes are
continuous till the end of the life
cycle.

Option (3) is correct.

Explanation: Socialization refers
to the process through which
individuals learn and internalize the
norms, values, beliefs, and behaviors
of their society or culture.

Preparing people to perform certain
social roles, and cultivating shared
sources of meaning and value.
Media (Like television, magazines,
reality shows, newspapers etc.) plays

a key role in promoting socialization
among people.

Media can enhance children's educa-
tion, learning opportunities, curiosity,
creativity, and communication.
Option (3) is correct.
Explanation: According
Piaget’s Theory:

The concrete operational stage begins
around the age of seven. During
this stage, children demonstrate the
ability to mentally arrange objects
in a series or sequence based on a
specific attribute, such as size, length,
or weight. They can understand the
concept of ordering objects from
smallest to largest or arranging items
in a specific numerical or logical
sequence.

to Jean

Option (4) is correct.

Explanation: Jean Piaget stated that
children’s cognitive processes are
aimed toward equilibrium. When
children learn something new
which is different from their current
schemas, they are in an undesirable
state of disequilibrium.

To achieve equilibrium, children
adapt their mental structures by:
Assimilating new information.
Accommodating this newly gained
information by updating their cogni-
tive schemas.

By achieving equilibrium, children
learn something new from that
information.

Option (1) is correct.

Explanation: Vygotsky's scaffolding
theory focuses on a student's ability
tolearn information through the help
of a teacher’s support.

Instructional scaffolding is a process
through whichateacheraddssupport
for students to enhance learning and
aid in proficiency in tasks.

Option (1) is correct.

Explanation: Lev Vygotsky asserted
that cognitive development is a
collaborative process. Thekey features
of his theory were: “Knowledge
is distributed among people and
environments, which could be
developed best by cooperation and
interaction with others.”

Option (1) is correct.

Explanation: One of the main
criticisms of Kohlberg's theory is its
gender bias. Kohlberg's research pri-
marily focused on male participants,
and his stages of moral development
were based on male moral reasoning.

10.

11.

12.

This led to a limited understanding
of moral development in females and
neglected the potential differences in
moral reasoning between genders.
Option (4) is correct.

Explanation: Gardner originally
proposed seven intelligences in his
theory, which included linguistic,
logical-mathematical, musical,spatial,
bodily-kinesthetic, intrapersonal,
and interpersonal intelligences.
Interpersonal intelligence refers to
the ability to understand and interact
effectively with others, including
the capacity to perceive and
understand the emotions, motiva-
tions, and intentions of others.
This type of intelligence is closely
related to practical intelligence, as
it involves the ability to navigate
social situations, adapt to different
social environments, and achieve
personally valued goals through
effective interpersonal interactions.
But Gardner's theory does not
explicitly use the term '"practical
intelligence," the concept is captured
withintheframeworkofinterpersonal
intelligence.

Option (1) is correct.

Explanation: Multiple perspectives
are a characteristic of narration or
representation where more than
one perspective is presented to the
audience.

The democratic and interactive
process of a constructivist classroom
allows students to be active and auto-
nomous learners.

Teachers are more effective when
they promote communication and
create flexibility so that the needs of
all students can be met.

The interaction can be collaborative.
This interaction can be collaborative,
allowing for the exchange of ideas
and perspectives among students,
resulting in effective outcomes in
discussions.

Option (3) is correct.

Explanation: Advantages of multi-
lingual approach in a classroom
include:

Multilingual ways of reading, writ-
ing, and speaking provide students
with access and enhance their
understanding of their own cultures.
Andbroadens their access knowledge
through texts in multiple language.
The primary role of the teacher
in a multilingual classroom is to
create an environment that fosters
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14.
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16.

language development and provides
meaningful contexts for students to
practice the language.

In a multilingual classroom, students
have opportunities to communi-
cate in different languages and
are encouraged to share their
language knowledge as part of
formal education. Multilingualism is
embedded into teaching, storytelling,
and shared reading.
Translanguaging, where learners
use different languages at distinct
stages in a lesson, can be facilitated
by teachers to support language
learning and comprehension.
Option (1) is correct.

Explanation: A gender stereotype is
a generalized view or preconception
creating a difference between multi-
ple genders or the roles that are or
should be any specific gender.

Like, girls should play with dolls and
boys should play with trucks.

Boys should be directed to like blue
and green; girls toward red and pink.
Boys should not wear dresses or other
clothes typically associated with
"girl's clothes".

So, in a house where there is a shift
in gender-based work, all the work
is equally divided among men and
women, children are less likely to
adhere to gender stereotypes.
Option (4) is correct.

Explanation: Aims of Assessment as
per National Education Policy 2020:
To promote the learning and develop-
ment of students.

To focus on 'assessment for learning'.
To test higher-order skills (analysis,
critical thinking, conceptual clarity
etc.).

To help the entire schooling system in
revising continuous teaching-learn-
ing processes to optimize learning.
Hence, it will be inappropriate to
say that this policy is designed to
create fear among students to ensure
learning levels.

Option (3) is correct.

Explanation: Dynamic assessment
is an evaluation method used to
identify an individual's skills and
learning potential.

In dynamic assessment, the examiner
goes beyond simple feedback to
elaborate feedback, for example:
When testing vocabulary; if a student
gets the word correct, the examiner
would say “Good, why did you
choose that?”

Dynamic assessment consists of a
test-teach-retest paradigm.

Option (3) is correct.

Explanation: The teacher-centered
curriculum is not suitable for the
inclusion of gifted children as in this
method, the primary role is that of
the teacher. The child cannot actively

17.

18.
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20.

engage with the studies but is only a
passive listener.

Option (2) is correct.

Explanation: Individualised learning
requires teachers to adjust their
practice to create a learner-centered
classroom.

This involves individualising three
elements of the learning process
based on the abilities and interests of
the student:

Content: Knowledge of the curri-
culum requirements is important

to  implement a  successful
individualised learning program.
Understanding available student

data enables teachers to identify
students' abilities, strengths, and
areas for improvement.

Learning technology: Teachers
should creatively utilize available
learning tools and adapt them to meet
the individual needs of students.
The use of online learning platforms
provides opportunities to customize
content, make assessments easier,
and offer extra guidance to students
who may require it.

The pace of learning: Students learn
at different speeds and may grasp
learning material at varying rates.
Their prior knowledge on certain
topics may also differ. Therefore, it
is important to ensure that learning
is delivered at a pace that suits each
student's individual needs.

Option (1) is correct.

Explanation: ADHD is one of the
most common neurodevelopmental
disorders of childhood. It often
begins in childhood and can persist
into adulthood.

Children with ADHD may have
trouble paying attention, controlling
impulsive behaviors (acting without
thinking about the consequences), or
be overly active.

It may contribute to low self-esteem,
troubled relationships and difficulties
at school or work.

Symptoms of ADHD limited attention
and hyperactivity.

Option (1) is correct.

For the successful inclusion of
students with hearing impairment, a
teacher should:

Avoid speaking anytime
student can't see her face
Extensively use verbal explanations.
Provide audio tapes of lectures.

Use ample non-verbal expressions.

when

Option (2) is correct.

Explanation: Creative thinking in
classrooms changes the way students
approach a problem.

Itallows them to think outside thebox,
experiment and generate innovative
solutions to various problems.

It Improves communication skills.

21.
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It helps learners generate original
ideas free of any preconceived
notions.

Hence, choosing activities that
providescopeforinsightfuland diver-
gent answers promotes creativity.
Option (4) is correct.

Explanation: The importance of
individual differences in education
has been known for a long time.
Adjusting the learning environment
according to the individual needs
of the student and preparing the
curricula by considering these indi-
vidual differences will help the
development of individuals.

An effective and productive learning-
teaching process can be planned by
considering the individual differen-
ces of the students and providing
necessary support for the learning of
the students who are weak in their
studies.

Option (3) is correct.

Explanation: The theory of mean-
ingfullearningis that newly acquired
information is completely under-
stood and can be used to make
connections with other previously
known knowledge aiding in further
understanding.

For example, how multiple mathe-
matical formulae can be derived from
a single formula, rather than memo-
rizing all of them by rote.
Meaningful learning teaches stu-
dents important cognitive skills that
they will use to evaluate, analyze,
remember, and make comparisons.
Eventually, meaningful learning is
the most effective way for students
to engage in learning.

The statement claims that linear
education divides the course material
into fixed steps or modules. While
some educational approaches may
follow a linear structure, it is not
accurate to say that all learning is
linear. In reality, learning is often a
complex and interconnected process
that can involve multiple pathways
and connections between different
concepts. So, the statement about
linear education is incorrect.

Option (4) is correct.

Explanation: Healthy competition
promotes growth in an inclusive
classroom for effective learning.
Competition should not be among
each other but with oneself. A
student should strive to make him-
self progressive by continuously
improving his skills and knowledge
through self-criticism and self-
learning. Fellow students should act
as motivation and help with growth
and learning.
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Option (4) is correct.

Explanation: A non-example is a
sample of something not included in
a concept.

What is a non-example example?
Bees are not non-examples of birds
because they are living things
or because they fly. Bees are not
considered non-examples of birds
because they belong to a different
classification altogether. A more
appropriate non-example of a bird
would be something like a fish or a
tree, which are clearly distinct from
birds. Therefore, the explanation of
the non-example is incorrect.
Learning should be child-centered.
Excluding non-exemplars and excep-
tions will lead to misconceptions
about the concept discussed.

Option (2) is correct.

Explanation: In structured enquiry,
the students investigate a teacher-
presented question through a pres-
cribed procedure and receive explicit
step-by-step guidelines at each stage,
leading to a predetermined outcome.
Thestatementsuggeststhatinstructu-
red inquiry, students receive explicit
step-by-step guidelines at each stage,
leading to a predetermined outcome.
However, this aspect is not accurate.
While structured inquiry provides a
framework and guidelines to support
studentinquiry,itdoesnotnecessarily
lead to a predetermined outcome.
The purpose of structured inquiry is
to guide students through the process
of investigation, allowing them to
explore and discover knowledge and
meaning for themselves.

This method promotes the involve-
ment of learners actively and crea-
tively and encourages students to
develop intellectual skills in solving
problems.

Option (2) is correct.

Explanation: Extrinsic motivation:
A person motivated to participate in
an activity to meet an external goal,
get appreciation, and approval, win
a competition or receive an award or
payment.

Inextrinsicmotivation, the motivation
to do a task does not come from the
heart or ‘interest.”

In some cases, individuals may
still find certain aspects of the task
interesting or enjoyable, even if
their primary motivation is external.
Additionally, extrinsic motivation
can sometimes be a stepping stone
to developing intrinsic motivation,
where individuals find personal
fulfillment and satisfaction in the
activity itself.

Option (4) is correct.

Afeeling of Hopelessness'in learning
is governed by a feeling of loss of
control, and it creates negativity in
students who disengage from the

28.
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effort, even when it is within reach
and will lead to success.

It leads to negative expectations
regarding oneself and one's future
life and a negative emotional state
leading to the lack of finding a
solution for one's problems. It occurs
in response to stressful situations
or traumatic experiences in which a
person feels they have limited control
over the outcome.

When an individual continuously
faces a negative, uncontrollable situa-
tion and stops trying to change their
circumstances, even when they can
do so. For example, a smoker may
repeatedly try and fail to quit.
Option (3) is correct.

Explanation: A misconception is a
conclusion that is wrong because it is
based on faulty thinking or fact that
is wrong.

Misconceptions may develop from
personal experience, imprecise lan-
guage, lack of examples and non-
examples in concept formation.
Media representation of phenomena,
errors in logic, and textbooks.
Teachers should not ignore students'
misconceptions rather they should
identify misconceptions and try to
clear them by examples, various
methods of teaching, etc.

Option (3) is correct.

Social constructivism: It focuses on
the collaborative nature of learning. It
states that Knowledge develops from
how people interact with each other,
their culture, and society at large.
Students depend on others to create
their building blocks and learn in the
process which helps them construct
their knowledge and reality.

For example, students share back-
ground knowledge and participate
together to arrive at a shared cons-
tructed meaning.

Option (1) is correct.

Explanation: Contextual Teaching
and Learning (CTL) involves
practically applying the concepts
learned through the knowledge and
experience of the students to the
learning process.

Contextualization = promotes the
transfer of learning and improves the
retention of information.

For example, students may be taught
writing skills in the morning in an
English course and then be expected
to apply them to draft an essay in a
history class in the afternoon.
Contextual learning motivates and
encourages learners to introspect
and explore their talent and learning.
They will express themselves with
precision and confidence and
improve their results.

Mathematics & Science

31.

32.

33.

34.

35.

Option (3) is correct.

Explanation:

Greatest three digit number using 0,
2,5,6 = 652

Smallest three digit number using 0,

2,5,6 =205
Difference = 652 —205
= 447
Option (2) is correct.
Explanation:

ERCRN
- (-
&~
- (T -

[... (um)n . amn]

2 (Zszl
L

[ (am X g" = g" + n]

. 1

= -3+12 =2m-1
[~ ifa™ = a", then m = n]
= 9 =2m-1
= 2m =10
= m =E =5
2

Option (3) is correct.

Explanation: According to option 3,
Total number of parts = 33
Parts that are covered =9

9
33
3x3
11x3
3

11

Fraction

So, option (3) is correct.
Option (4) is correct.
Explanation: Perfect square refers
to an integer that is the square of
another integer.
1) 2116 = 46 X 46

Therefore, it is a perfect square
of 46.
2) 2916 = 54 x 54

Therefore, it is a perfect square
of 54.
(3) 3136 =56 x 56

Therefore, it is a perfect square
of 56.
(4) 3158 is not a perfect square.
Option (3) is correct.
Explanation:
Given, Number of gold coins = 75
Number of silver coins = 120
Maximum number of coins that each
stack can have = HCF of 75 and 120
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= Factorsof 75 =3 X 5% 5
Factorsof 120 =2X2x2X3 x5
HCF =3 x5
=15
Option (1) is correct.
Explanation:
32-x)—(x +6) =2(1-3x)
= 6-3x—x-6 =2-6x

Or, —4x +6x =2
2
Or, X =—
2
= 2x =2
So, x =1
Now, putting the value of x in every
option:

1) 4x+3 =5+ 2«
=4x-2x =5-3
= 2x =2
So, x =1
(2) 9x +5 =4(x-2)+ 8
=9% +5 =4x-8+8
=% -4x =-8+8-5
= 5x =-5
So, x =-1
3) 5x+7 =2x+9
=5x-2x =9-7
= 3x =2
So, x = E
3
4) 3x-1=2x+4
=3x-2x =4+1
So, x =5
Therefore, the only option where the
value of x = 11is option (1).
Option (2) is correct.

Explanation:

Given: a+b =3
a>+ b =89

Squaring both sides

(a+0b? =37
Formula used:
@+ b2 =a2+ 0>+ 2ab
a2+ b +2ab =9

=
= 89 + 2ab = 9[- a? + 1% = 89]
= 2ab = -80
= ab = 280 — 4o
2
To find: 1+1
a b
- a+b
ab
=3 .. _
= — [ (@+b)=3and
40
ab = —40]
1 1
So, — % =—i
a b 40

Option (4) is correct.

Explanation: (p —q) + r

= [Bx2-6x-4-3+ x-2%)
+ (—4x + x* +9)

= (B2 4 222 + x?) + (-6x — x — 4x)

+(4-3+9)
= 6x2-1lx + 2
Therefore,

(p-q) +r=6x*-11x +2

39.

40.
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Option (2) is correct.

Explanation:

Definitions:

m Positive integer: A whole number
that is greater than zero.

m Proper fraction: Fraction where
denominator is greater than the
numerator.

B Improper function: Fraction
where denominator is less than
the numerator.

m Negativeinteger: Awholenumber
that is less than zero.

10x* + x -3

= 10x>-5x + 6x-3

= 5x(2x-1)+32x-1)

= (Gx+3)2x-1)

Comparing it with (ax + b)(cx + d)

= a=5b=3,c=2,d=-1

To find: b+d

a+c

Putting the value of 4, b, ¢ and d in
given expression,
= 3-1 _2

5+2 7

2 . .
> is a proper fraction.

Option (3) is correct.

Explanation: As per question:
Increment % = 10%
Decrement % = 10%

We know that,

Net change
= Increment % — Decrement %

[Increment X Decrementj

100

=10—10—(10X10]
100

_ NI

© 100

_10-10-1

© 100

=-1%

Therefore, the value will be decreased
by 1%.

Option (2) is correct.
Explanation:
Given, AD ||BC
AB =5cm
BC =11cm
AD =7cm
BF is perpendicular to DF
AF =3 cm
B 11 cm C
5cm
H
F3cm A 7 cm D

Here, AAFB is a right angled triangle
(BF)* = (AB)? - (AF)*

= BF? =523
= BF? =25-9=16
= BF = .16 =4cm

So, BF =4cm

42,

43.
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We know that, Area of trapezium

= %(sum of parallel lines) x height

1
= —(7+11)x 4
> )%

= 1><18><4
2

= 36 cm?
Area of trapezium ABCD is 36 cm?.
Option (1) is correct.
Explanation: Given,
Length of rectangle = 150 cm
Breadth of rectangle = 100 m
Area of square = 0.01 km?
(side)®> = 0.01 km?
Converting into m?
= (side)®> = 0.01 x 1000 x 1000
[+ 1km = 1000 m]
= (side)?> = 10,000 m?

Or, side =4/10,000
= (side) = 100 m
In order to find the distance covered
by Deepak, we have to consider the
perimeter.
Perimeter of square
=4 X side
=4 x100
=400 m
Perimeter of rectangle
= 2(length + breadth)

Here, Length
=150 cm
=15m [~ Im = 100 cm]
= Perimeter = 2(1.5 + 100)
= 2(101.5)
=203 m

Since, the distance covered in 1
round =203 m
Therefore, the distance covered in 10
rounds in rectangular ground
=203 x 10
= 2030 m
Since,the ground is square shaped he
has to walk
Total distance covered
in 10 rounds in
rectangular ground

Perimeter of
square ground

2030
400
= 5.075 which is approx. 5.

Option (3) is correct.
Explanation: Here, we have to find
the volume of the cylinder.
Given,
Radius (r) = 17.5cm
=0.175m
[** 1m = 100 cm]
Height (1) = 1m
Volume of Cylinder = nrth
= 2—72><(0.175)2 x(1)

Volume = 0.09625 m3
Converting it into litres,
1m? =1000L
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45.

46.

47.

48.

= 0.09625 m? = 0.09625 x 1000

= 96.25 litres
Option (2) is correct.
Explanation: Here, total number of
events from 25, 26, ... 49 are 25
Prime numbers between 25 and 49 are
29,31,37,41,43 and 47
= Favourable number of events = 6
Probability
_ Number of favourable events

Total number of events
_ 6
25
=0.24
Option (2) is correct.
Explanation:
Average
_ Sum of all the observations

Number of observations

Here,
Average age of 40 students
=12
= Sum of age of 40 students
=12 x40
=480
Average age of 41 people
=13
= Sum of age of 41 people
=13 x41
=533
The difference will be the age of
teacher = 533 -480
= 53 years
and the retirement age of the teacher
= 55 years
the teacher will retire after
=55-53
= 2 years

So,

Option (2) is correct.
Explanation:

The sum of supplementary angles
= (2a +b) + (3a-b) =180°

= 2a+3a+b-b=180°

= 5a = 180°
= 0= 180 _ s
5
Therefore, 30 =3 X 36°
= 108°

Option (4) is correct.

Explanation: Rotational symmetry

means that the letter will look same

when we rotate it clockwise.

Given Word: MATHS

M - Only verticalline of symmetry &
no rotational symmetry

A - Only verticalline of symmetry &
no rotational symmetry

T- No rotational symmetry

H - Rotational symmetry at angles

360°, 180°

S— Rotational symmetry at angles
360°,180°

H and S have rotational symmetry.
Option (1) is correct.

Explanation: We can only draw a
triangle if the sum of any two sides is
greater than the third side.

49.
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@p-D+@2p+2) >13
2p+2p+2-1>13
4 >13-1
4p > 12
o2
4
So, p>3
For constructing the triangle, p > 3

TN

Option (3) is correct.
Explanation:

Sum of all angles of a quadrilateral
= 360°

= 4x + 5x + 3x + 6x = 360°
= 18x = 360°
= X = @
18
= = 20°
Here, Greatest angle = 6x
=6x20
= 120°
Smallest angle = 3x
=3x20
= 60°

Difference between the greatest and
smallest angle = 120°-60°
= 60°
Option (2) is correct.
Explanation:
Rectangle: A quadrilateral with all
four vertices equal to 90° and parallel
sides are also equal to each other.
Kite: A quadrilateral which has two
pairs of equal length sides. These
equal length sides are adjacent to
each other. It has two diagonals
which intersects each other at 90°.
Parallelogram: A quadrilateral in
which opposite sides are parallel and
equal. Opposite angles are also equal.
It has two diagonals which bisect each
other.
Rhombus: A quadrilateral with all
sides equal and diagonals intersect at
90°, a type of parallelogram.
As per the above definition, a
quadrilateral with AC L BD, AB =
AD and CB = CD ‘Xﬂl be a Kite.

C

Option (1) is correct.
Explanation: Implies’inmathematics
mean that “if A is true, then B is also
true.”
For example:

A:2is a factor of 20

B : 20 is divisible by 2
The above example clearly shows that
if A is true, then B is also true.
Therefore, it can be stated that ‘A is
necessary condition for B’.

52.

53.

54.

Option (1) is correct.

Explanation:

1. Deductive method: In this
method, generalization or a
rule is used to solve problems.
Here, the students move from
general to particular, from
abstract to concrete. It is less
time consuming as compare
to inductive method because
direct formula or generalization
is followed by the problem.

2. Inductive method: In this
method, students move from
particular events to generalized
conclusions.

3.  Proof by contradiction: In this
method, truth is established by
assuming the proposition to be
false that leads to contradiction.

4. Proof by counter-example: In
this method, proof structure
allows to prove that the property
is false through an example
where it does not hold.

By the above definitions, it can be
said that ‘deductive method’ is the
correct option as geometry contains
theorems, axioms, etc. that are not
tend to be proven individually as
then it will take a lot of time. So,
generalization will be used to solve
them.

Option (3) is correct.

Explanation:

m Statistics has real life applications
and it is one of the most important
topic in mathematics.

= Students should be given different
tasks that involves data collection,

answering and  questioning
about the outworld. For example,
surveys.

m Students should formulate the
questions that are relevant and
can be addressed with data and
collect, organize and display
relevant data to answer them.

= In statistics, numbers having more
significance using graphs & using
it to solve problems cannot give
the answer question of outworld
as they have some restrictions.

Option (2) is correct.

Explanation: As per NCF 2005,

the main objective of teaching

mathematics is the development of
child’s ability for mathematization.

Mathematization is possible if:

m There is mathematical curiosity
among students.

m Students use different approaches
to solve problems.

m Mathematics education should
focus on knowing how to
mathematize rather than on
knowing a lot of mathematics.

m Students should understand
and use different symbols and
notations of mathematics.
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m Students don’t try to memorize
and use meaningful learning
process.

Option (3) is correct.

Explanation: Analytic rubics is a

matrix that represents important

learning criteria in the leftmost
column and levels of achievement on
the top row.

The advantages of using analytic

rubics are:

m One of the important tools of
formative assessment.

m Teacher can use this to calculate a
student’s achievements based on
various criteria.

m Provides diagnostic information
to teachers.

m Provides formative feedback to
students.

m It is easier to link to instructions
than to holistic rubrics.

Option (4) is correct.

Explanation:
1. Project based method:
Instructional ~ approach  to

make students understand and
develop skills based on a project
in a real world.

2. Inductive-Deductive: In
inductive, you progress or
conclude by moving from
specific to general. In deductive,
you progress from general ideas
to specific conclusions.

3. Problem posing: Method where
teacher provides problem and
the class collaborates to find the
answers.

4.  Problem solving: Mathematical
tasks that provides students
with challenges that helps
in enhancing their skills and
understanding of mathematics.

Here, the question requires problem

solving method as:

m The student has to clearly
understand the question and
then arrive to an answer. He has
to understand the relationship
between the number of fruits and
gates.

m The student has to form various
hypothesis to find the correct
solution.

Option (4) is correct.

Explanation:

m Through creative thinking, a
student can solve the problem by
thinking creatively and can obtain
answer through various steps
and doesn’t have to depend on
learning formulas.

m Using formal algorithms, lecture
method, multiple close-ended
problems doesn’t lead to creative
thinking as they provide one
fixed solution and student has less
freedom to explore.

58.
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m Using multiple solutions tasks
lead to creative thinking as there
is no fixed solution. The method
to be used will be decided by the
student.

m Students will come up with
various solutions based on creative
thinking.

Option (2) is correct.

Explanation: Problem solving refers

to mathematical tasks that provide

students with challenges that
help in enhancing their skills and
understanding of mathematics.

Activities that helps in promoting

problem solving are:

m Teachers should solve problems
to reflect on solutions and allow
students to assess themselves
where they lack behind.

m Based on cognitive abilities of
students, teachers should create
different tasks.

m (Creating curiosity
students.

m The other mentioned activities
as compared to option (2) do not
promote problem solving and also
not challenging enough.

among

Option (4) is correct.

Explanation: Mathematics anxiety

refers to the fear among the students

while solving a mathematical
problem.

Strategies that helps in dealing with

it are:

m Teachers should consider the
errors of students as a way of
knowing, where the student is
lacking.

m Positive attitude while
communicating with students.

m Students should learn from
peers by providing them with
collaborative tasks and promoting
group practice problems.

m Speciallearning materialshouldbe
designed so that it will create more
interest towards mathematics.

m The other options, will lead to
enhancement of mathematical
anxiety.

Option (4) is correct.

Explanation:

m (ritical thinking enhances the
thinking capacity of students and
make them to find answers in
multiple ways.

m Jt involves understanding of
problem, framing of hypothesis
and prioritising them.

= In this option, the values of radius
and height is already given. So,
can directly apply formula and no
need of critical thinking.

m  On the other hand, the remaining
three options helps in developing
critical thinking as students have
tothinkin different ways & have to

61.
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consider all the possible outcomes
before arriving to a solution.
Option (1) is correct.
Explanation: The Moon revolves
around the Earth and takes 27.322
days to complete it and rotation
time of the Moon to rotate on its
axis overlaps with revolution along
with the orbital plane. So, the Moon
always has the same face towards the
Earth.
Option (2) is correct.
Explanation: Honeybees mixes the
honey to the enzyme present in their
stomach i.e. invertase which converts
sucrose present in honey to glucose
and fructose. The worker bees then
transfers the nectar to house bees
which add more enzymes. These
break down the sugar raising water
content slightly reduced to 17-18%.
Here, the nectar changes into honey.
Option (2) is correct.
Explanation: Fishes have a slimy
covering mucous that protects their
body from decay. It also helps in
maintaining water balance and
retaining moisture inside body.
Option (1) is correct.
Explanation: Lions are carnivores
animals that depend upon other
animals for their food. Their small
intestine can only absorb salt and
water. They do not have any digestive
enzymes to digest cellulose as it is a
chain of glucose and couldn’t get
break down by carnivores animals.
Option (2) is correct.
Explanation: Wheat is the source of
carbohydrate that contains gluten,
proteins and components that causes
allergy to some people. Celiac disease
is an auto immune disorder that can
damage small intestine are caused by
a protein found in wheat.
Option (4) is correct.
Explanation: Here, X is fern.
It is a non-flowering, seedless plant
that grows on land. They are being
subdivision of Cryptogams plant
Kingdom.
Option (2) is correct.
Explanation: Setting milk into curd
is a chemical change as change is
irreversible. A new substance called
lactic acid is formed.
Making cottage cheese from milk
is also a chemical change as it is
irreversible. When enzyme rennet is
added to milk, milk curdles, cottage
cheese separates themselves leaving
behind liquid portion. Milk cannot be
reobtained from it.
Option (2) is correct.
Explanation: Silk is the strongest
natural fibre consisting of two
proteins, fibroin and sericin. They are
highly stretchable and durable.
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Option (3) is correct.

Explanation: Turmeric, litmus and
china rose are natural indicator that
can be obtained naturally via plants.
Methyl orange solution is a synthetic
indicator made by mixing up of
sodium nitrite to sulfanilic acid in
solution. It turns orange in acidic and
yellow in basic solution.

Option (3) is correct.

Explanation: She could have used
baking soda solution which is basic
and beetroot is a pH indicator which
will turn secret message in dark red
colour.

Option (4) is correct.

Explanation: Identical twins are
produced from one fertilised egg that
splits resulting in birth of two babies
with similar genetic factors.

Option (2) is correct.

Explanation: On a cold day, metal
door knob feel much cooler than a
similar plastic knob as they allow
heat to pass away from them easily
whereas plastic is an insulator which
do not let heat to pass through it. The
metal door knob has a higher rate
of thermal conductivity than other
objects.

Option (1) is correct.

Explanation: Human ear has a
hearing range between 20Hz to 20,000
Hz. Sound frequencies less than 20
Hz is known as infrasonic sound
whereas sound frequencies above
20,000 Hz are known as ultrasonic
sound. Human can hear between this
range only.

Option (3) is correct.

Explanation: Lighting conductor is
installed in a building so that it can
absorb electric charge on ground
if lightning strikes the building. It
consists of a metal rod mounted on
the top of building with a thick wire
so that if lightning strikes building
it will strike rod and be conducted
to ground through wire and not
building.

Option (4) is correct.

Explanation: Synthetic fibres are
prepared using petroleum products
that makes them more prone with
fire accident because as soon as it
will come in contact to fire, it will get
shrink and will stick to the body of
person wearing it. So, people should
wear natural fibre where there is a
work of fire.

Option (4) is correct.

Explanation: Mixture are those
substance thatcontains more thanone
substance or element or compound
mixed in any proportion. Here, wood,
air and sand are mixtures in which
air is homogeneous mixture while
wood and sand are heterogeneous
mixtures.
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Option (3) is correct.
Explanation:
Speed = Distance
Time
Distance = 360 metre
Time = 2 minutes
= 120 sec.
Speed = 360
120
=3 ms’!

Option (1) is correct.
Explanation:
Focal length of concave mirror = 20
cm.
To obtain virtual image of the object,
position of object should be between
Focus and Pole of the mirror.
The correct distance is less than 20
cm where an object to be placed. So,
distance is 10 cm.
Option (4) is correct.
Explanation: When a bar magnet is
broughtnearit,iron dust sticks mostly
near two ends because magnetic
strength is maximum at end or poles
of magnet and minimum at middle of
bar magnet.
Option (3) is correct.
Explanation: Sound travels much
faster through solids followed by
liquids and gases as it requires
transmitting objects to send vibration
across particles.
Here, in above option, sound will
travels fastest through Iron as it is the
most dense among them and will be
slowest in air because intermolecular
spacesarehighbetweenairmolecules.
Option (1) is correct.
Explanation: Observation is what
we perceive through our eyes
without any previous conceptions
and inference is an outcome after
observation, connecting it to previous
knowledge.

Here, the students observed the leaf

turning blue-black in colour and

inferred later that due to it becomes
blue-black. It contains starch.

Option (2) is correct.

Explanation: Following are objectives

for organising a science fair in school.

1. Providing real-experience
through models, projects etc.

2. Increasing the student’s interest
in science.

3.  Opportunity toapply theoretical
knowledge practically to solve
questions or problems.

Option (3) is correct.

Explanation: Cognitive validation

means preparing curriculum, peda-

gogical methods, language, content
according to the age group and
understanding level of children.

Flow of concepts should be simple to

complex and should keep individual

differences in mind.
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Option (3) is correct.
Explanation: Here, the teacher
should allow students to observe
plants carefully and classify them
in their own way so that they can
grasp knowledge on their own
without any hindrance. Observation
or classification should be discussed
later in enquiry teaching. Here, the
students will be interested towards
new learnings and it may reduce their
pressure to learn from textbook only.
Option (2) is correct.
Explanation:Forholisticdevelopment
of science understanding, it is impor-
tant to include episodes from history
so that it could set an inspiration for
students. Also, students feel more
connected with real-life examples and
become more enthusiastic towards
learning science concepts.

Option (4) is correct.

Explanation: For

science, one should:

1. encourage open ended ques-
tions to develop critical and
divergent thinking.

2. promote student’s justification
of theirresponsesto getinforma-
tion about learners depth of
understanding.

3. discourage use of to-the-world
scientific vocabulary as it may
include rote-memorisation.

4.  errors should be kept as a source
for level of understanding.

assessment in

Option (1) is correct.

Explanation: Nature of science is
a process of describing the world
around us using observations, experi-
ments and outcomes. Scientific
knowledge are tentative and are
subject to change due to new findings
and changes around us. They are
sometimes falsifiable as they are
re-conceptualize because of new
information or observations.

Option (1) is correct.

Explanation: Hoshangabad Science
Teaching Program (HSTP) was an
program started in 1972 to improve
teaching-learning of science at school
level and also encouraged innovative
interactive method to teach concepts
of science. It was introduced in
villages to make students learn
through experiment and observation
in place of rote memorization of
concepts.

Option (2) is correct.

Explanation:  Teaching  science
through discovery facilitate learning
through experiments and observa-
tions. It provides hand-on experience
tolearners. It focuses on the process of
learning-providing more meaningful
and authentic learning. This is a
student centred approach.
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Option (1) is correct.

Explanation: Here, the teacher is
using the experimenting skills of the
students to assess them on what they
are doing an activity. It involves high
attention, previous knowledge and
concentration in their performance.
It ensures divergent thinking and
concluding with appropriate results.

Language: English
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Option (3) is correct.

Explanation: The writer, while his
visit to India again in 1945, is not
impressed by the current scenario.
He feels that Indians are still occupied
mostly with politics and are hardly
interested in art and literature.
These lines from the above passage:
“Their attitude is “first we must find
the correct political solution and then
we can deal with other matters, "I
think the attitude is unsound,”
“Externally the place hasnotchanged.
It looks much as it did from the train.
Outside the carriage windows (rather
dirty windows) it unrolls as before
— monotonous, enigmatic, and at
moments sinister.”

“I don’t myself like the phrase "the
real India”. I suspect it. It always
makes me prick my ears.”

The writer is upset that nothing much
has changed externally in terms of
basic amenities of cleanliness and
hygiene. Indian People are ignoring
the development of art and literature,
and social problems at the cost of
politics, which holds a supreme place
in their minds.

So, it is right to say that he is negative
while portraying a picture of India.
Option (4) is correct.

Explanation: The above line from the
passage:

“You cannot understand the modern
Indians unless you realise that politics
occupy them so passionately and
constantly, that artistic problems, and
even social problems-are subsidiary.”
The writer is vehement about the
fact that Indians give importance to
politics, only paying little attention
towards the social problems and
development of art and literature,
which boost an economy.

Option (1) is correct.

Explanation: With reference to the
following lines from the passage:
“You cannot understand the modern
Indians unless you realize that politics
occupy them so passionately and
constantly, that artistic problems, and
even social problems-are subsidiary.”
These lines suggest statement (a) is
right.

"Their attitude is "first we must find
the correct political solution and
then we can deal with other matters,
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"I think the attitude is unsound, and
used to say so; still, there it is, and
they hold it much more vehemently
than they did a quarter of a century
ago.”

These lines suggest statement (b) is
wrong.

“When I spoke about the necessity of
form in literature and the importance
of the individual vision, their atten-
tion wandered, although they liste-
ned politely.”

This line suggests statement (c) is
wrong.

Option (1) is correct.

Explanation: “WhenIspoke about the
necessity of form in literature and the
importance of the individual vision,
their attention wandered, although
they listened politely. Literature, in
their view, should expound or inspire
a political creed.”

These lines suggest that statement (a)
is correct.
“Externally, the placehasnotchanged.
It looks much as it did from the train.
Outside the carriage windows (rather
dirty windows), it unrolls as before
— monotonous, enigmatic, and at
moments sinister.”

These lines suggest statement (b) is
wrong.

Option (4) is correct.

Explanation: “Industrialization has
increased though it does not domi-
nate the landscape yet as it does in
the west.”

This line supports the fact the writer
does not think that industrialization
has picked up at a fast pace, like the
west in India.

Option (3) is correct.

Explanation: An adjective is a word
that describes a noun or noun phrase.
Its semantic role is to change the
information given by the noun.
Subsidiary (adjective) means ‘conn-
ected with something but less impor-
tant than it.’

“You cannot understand the modern
Indians unless yourealize that politics
occupy them so passionately and
constantly, that artistic problems, and
even social problems-are subsidiary.”
Here, the writer is stating that social
problems and artistic problems are
lessimportantthan politicsand hence,
stating the degree of importance.
Option (2) is correct.

Explanation: Inspire means to
influence, and ‘to make someone feel
that they can do it.”

“Literature, in their view, should
expound or inspire a political creed.”
In the above line, ‘inspire’ means
‘encourage.’

Option (1) is correct.
Explanation: Monotonous means,
never changing, dull, tedious, and
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repetitious; lacking in variety and
interest.

Hence, monotonous and changing
are opposite in meaning.

Option (4) is correct.

Explanation: Coordinate clauses
are one of two or more clauses in a
sentence that are of equal importance
and are usually joined by and, or, or
though etc.

“Industrialization has increased
though it does not dominate the
landscape yet as it does in the west.”
Here, two important sentences are
joined by ‘though.’

Hence, the given expression is a
coordinate clause.

Option (3) is correct.

Explanation: "Dover Beach" is the
most celebrated poem by Matthew
Arnold, a writer and educator of the
Victorian era. The poem expresses
a crisis of faith, with the speaker
acknowledging the diminished
standing of Christianity, which the
speaker sees as being unable to
withstand the rising tide of scientific
discovery.

The poet uses a metaphor to compare
the huge amount of faith that
humanity depends upon to the actual
sea that he can view in front of him.
The retreating waves are tantamount
to the receding faith in humanity.
Therefore, the feeling of sadness
overwhelms the poetand drowns out
the sound of the waves.

Option (3) is correct.

Explanation: A simile is a figure of
speech involving the comparison
of one thing with another thing of
a different kind, used to make a
description more emphatic or vivid
(e.g., as brave as a lion).

“Lay like the folds of a bright girdle
furled.”

Here, the poet has used the simile as
a method of comparison.

Option (2) is correct.

Explanation: The phrase ‘naked
shingles,” indicates that no one is
sitting on the rocks.

"Shingles" means the rocks that lie
on the shore. So, Arnold is picking
up the coastline imagery that he
worked so hard to establish in
the first stanza and turning it into
something evil-sounding and scary.
The coast the speaker can see is calm
and comforting. The naked, empty
metaphorical coast in his mind is
anything but.

Option (1) is correct.

Explanation: The speaker addresses
the companion as "love," and states
desperately that the two of them
need to treat each other with honesty
and authenticity. This is because
the world, though it has a dream-
like quality of variety, beauty, and
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newness, does not offer joy, love, or
clarity. Neither claims the speaker,
can it provide certainty, peace, or
relief from pain.

The speaker then compares their
collective situation to standing on a
flat and dark piece of land, which is
caught up in the chaos of fighting.
Here, battles between unknowing
groups continue under the cover of
darkness.

Here, the poet is not referring to
physical or romantic love, but rather
a more general form of love that
everyone should feel towards their
fellow beings.

Option (3) is correct.

Explanation: “To one another! For the
world, which seems

To lie before us like a land of dreams,
So various, so beautiful, so new,
Hath really neither joy, nor love, nor
light,

Nor certitude, nor peace, nor help for
pain; “

With reference to
mentioned lines:

The poem says this loss of faith is
global, suggesting the vast reach of
scientific advancements at the time.
The speaker believes that scientific
advancement will bring only scien-
tific—notspiritual—certainty and will
lead to more doubt and questioning
(which is, in fact, an important part
of the scientific method of inquiry).
The poem expresses a kind of resig-
nation.

The speaker fully admits the change
thatisin the process—itisasinevitable
as the waves rising and falling—and
challenges the reader to consider
whether this loss of faith is progress
or a wrong turn.

Option (3) is correct.

Explanation: ‘Symbolism’ is used
here by the poet.

‘Symbolism’ was an artistic and poetic
movement or style using symbolic
images and indirect suggestions to
express mystical ideas, emotions, and
states of mind. It originated in late
19th-century France and Belgium,
with influential figures including
Mallarmé, Maeterlinck, Verlaine,
Rimbaud, and Redon.

The “Sea of Faith” once touched the
shores of the entire world, but is now
“withdrawing.” The poem says this
loss of faith is global, suggesting the
vast reach of scientific advancements
at the time.

the above-

Option (4) is correct.
Alanguageisatool of communication,
governed by rules. There have been
many civilizations in various parts
of the world which have developed
different languages.

The goal of the language is to develop
communicative competence and
fluency.
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Since children learn from their
natural surrounding which is home,
and society, he learns to speak in their
mother tongue.

The children learn other languages
when they are encouraged to use
them in a natural environment
setting.

Since language is rule-governed,
children can learn better by using a
language rather than memorizing it.
Hence, it is true to say that learners
acquire a language by using the
language in a natural interactive
environment.

Option (3) is correct.

Explanation: The productive skills of
a language are speaking and writing
because these skills can measure
learners’ ability to produce language.
These skills are also known as skills of
expression as both skills are concer-
ned with language product or output
through speech or written texts.
Option (4) is correct.

Explanation: ‘Dyslexia’ is a disorder
in a child that results in difficulty
in comprehending a text gesture
and reading at an expected rate of
speed because of frequently omitting
substitutes or reversing the letters
and words while reading.

Option (1) is correct.

Explanation: What is the functional
model of language?

A functional model recognizes that
language is part of every aspect of
our lives (sometimes accompanying
an activity and sometimes the focus of
an activity). The model explains that
language is a system which we use
to construct meanings for an entire
range of different purposes.

This competence can be oral,
written, or even nonverbal. It refers
to possessing the knowledge of the
language as well as the skill to use
the language in real-life situations
for fulfilling communicative needs
as language is a vehicle for the
expression of functional meaning and
for performing real-world activities.
Option (1) is correct.

Explanation: Expository = writing
is writing that seeks to explain,
elaborate, or 'expose' (which is where
the word 'expository' comes from).
This type of writing can include
essays, newspaper and magazine
articles, instruction manuals, text-
books, encyclopedia articles, and
other forms of writing, so long as they
seek to explain.

Option (4) is correct.

Explanation: Community Language
learning is a humanistic method
that emphasizes the role of human
values and the understanding of the
learner’s feelings and emotions in the
teaching/learning process.
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The CLL method was developed by
Charles Curran.

Curran asserts that learning is a social
phenomenon that should take place
'within the supportive environment
of a "community" of one's fellow
learner'. The teacher is viewed as a
counsellor who is also responsible
for creating a non-defensive environ-
ment and overcoming negative
feelings towards learning a new
language.

In community language learning,
learners are seen as a group rather
than a class. They interact in inter-
personal relationships and constitute
a supportive community.

Option (2) is correct.

Explanation: A portfolio is a
purposeful collection of student work
samples, student self-assessments,
and goal statements that reflects
student progress.

Students generally choose the work
samples to place in the portfolio, but
the teacher may also recommend that
specific work samples be included.
While portfolio assessments focus on
self-reflection and evidence of growth
over time through samples of work
products, performance assessments
require students to directly apply
what they have learned in realistic
situations.

Allows the evaluators to see the
student, group, or community as
an individual, each unique with its
characteristics, needs, and strengths
There are three different types of
portfolios:

= Process

= Product

= Showcase.

Although each type is compiled
for a different audience, all have
a developer, purpose, specific
audience, and reflection section for
reflecting on the evidence.

Option (3) is correct.

Explanation: While designing the
activities for the language classroom,
a teacher should consider involving
meaningful interactions by providing
situations that will help develop
language skills such as listening,
speaking, reading, and writing.

A teacher should devise activities
based on real-life situations to help
children to relate with them closely
fostering language development
skills.

Option (2) is correct.

Explanation: The National Education
Policy 2020 (NEP) lays out a
compelling, ambitious agenda for
education reform in India.

The National Education Policy 2020
(NEP 2020) has emphasized the use of
the mother tongue or local language
as the medium of instruction till
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Class 5 while recommending its
continuance till Class 8 and beyond.
It recommends that all students
will learn three languages in their
school under the formula. The three
languages learned by children will be
the choices of States, regions, and of
course the students themselves.
However, at least two of the three
languages should be native to India,
one of which is most likely to be the
local/ regional language.
The rule will apply to both private
and public schools.
High-quality textbooks, including
science, will be made available in
home languages. In cases where
home-language textbook material is
not available, the language between
the teachers and students will
remain the home language wherever
possible.
The National Education Policy 2020
encourages teachers to use a bilingual
approach, including  bilingual
teaching-learning materials, with
those students whose home language
may be different from the medium of
instruction.
Option (2) is correct.
Explanation:  ‘Cognitive/Academic
Language Proficiency (CALP) is
the language ability required for
academic achievement in a context-
reduced environment.
Diaz-Rico and Weed (1995) postulated
that CALP is comprised of distinct
components: communication, conce-
ptualization, critical thinking, culture,
and context.
Certified ~ Academic  Language
Practitioners (CALP) provide explicit,
systematic, sequential Multisensory
Structured Language instruction
whichbuildsahighdegreeofaccuracy,
knowledge, and independence for
students with  written-language
disorders, including dyslexia.
Cognitively Advanced Language
Proficiency is the language skill that
is required to:
= Use higher—order thinking skills.
m Occur in a context-reduced
environment.
m Discuss academic content in the
classroom.
m Interact in  decontextualized
academic situations.
m Deal with fundamental skills of
academics.
Option (1) is correct.
Explanation: The total physical
response is a language teaching
method developed by James Asher, a
professor emeritus of psychology at
San José State University.
A few TPR examples include facial
expressions, body language, gestures,
or physical props.
The total physical response is a
strategy that tends to work best for
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action-related words and is also an
effective way to keep your students
energized and focused in class.

‘A kinesthetic learner” would rather
perform physical activity to learn
something, as an active participant,
instead of passively listening to a
lecture or watching a demonstration.
They try things out, touch, feel and
manipulate objects.

Body tension is a good indication of
their emotions.

They gesture when speaking, are
poor listeners, stand very close when
speaking or listening, and quickly
lose interest in a long discourse.
Hence, TPR (Total physical response)
is an effective method of learning for
kinesthetic learners.

Option (4) is correct.

Explanation: The following are
the languages included in the 8th
schedule.

Assamese, (2) Bengali,

(

(3) Gujarati, (4) Hindi,
(5) Kannada, (6) Kashmiri,
(7) Konkani, (8) Malayalam,
(9 Manipuri, (10) Marathi,
(11) Nepali, (12) Oriya,
(13) Punjabi, (14) Sanskrit,
(15) Sindhi, (16) Tamil,
(17) Telugu, (18) Urdu,
(19) Bodo, (20) Santhali,
(21) Maithili and (22) Dogri.

Hence, Rajasthani is not included.
Option (2) is correct.

Explanation: ~ Bottom-up  model
processing of language learning is
a type of information processing
based on incoming data from the
environment to form a perception.

It happens when someone tries to
understand language by looking at
individual meanings or grammatical
characteristics of the most basic units
of the text, (e.g. sounds for listening or
words for reading), and moves from
these to try to understand the whole
text.

Example

Asking learners to read aloud may
encourage bottom-up processing
because they focus on word forms,
not meaning.

So, it is an example of bottom-up
processing.

Option (1) is correct.

Explanation: Immersion education
is a system in which all academic
subjects are taught in a target
language such as English, French,
Spanish, or Mandarin.

In this system, students can achieve
high levels of proficiency and
fluency in the target language and
learn academic as well as everyday
language as they learn their second
language naturally as their mother
tongue because they are immersed
in the language. They hear, learn
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and speak it in the most indigenous
manner.

Option (1) is correct.

Explanation: Register often refers to
the degree of formality of language.
There are formal and informal regis-
ters in spoken and written language.
Formal registers can include every-
thing from an academic essay to
wedding vows. The academic essay
is formal because it includes polished
speech, complex sentences, and
precise vocabulary.

On the other hand, there are informal
registers. Informal language occurs
between people whoknow each other
well and who speak without trying to
be 'proper'. Sometimes this includes
speaking in slang and other times it's
simply a more casual delivery.

Language: Hindi
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